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1) TRADE THEORY
Question No. 1/ Question ID 113 Marks: 2.00
What is the name of the bearing shown in the figure?
fery 7 ferame T7u forafar &1 - 82

Global iTi YouTube Channel

(A) O Self aligning ball bearing (Correct Alternative)
T-GAd 97 SGfT (Correct Alternative)

(B) O Single row ball bearing
Tohd UfeT sl ST

(C) O Solid bearing
grfers feafar

(D) O Double row ball bearing (Chosen Option)
S99 X 91 fafT (Chosen Option)

Question No. 2 / Question ID 239 Marks: 2.00
What is the name of the part marked as 'X' shown in the figure?

o  fezame m x ¥ FRIfgd Wi 1 AW R g




(A) O Piston (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(B) O Spring
&

(C) O Cylinder
RycieR

(D) O Seal

Question No. 3 / Question ID 101 Global iTi YouTube: @laannel

Which bearing carries the load parallel to its axis?

DI 1 f9afT YR &I 3o ¢} & JHMIAGR I8 ol 872
(A) O Radial bearing
g fagfe

(B) O Split bearing
Ruee fagfa

(C) O Plain bearing
Wi fagf

(D) O Thrust bearing (Correct Alternative) (Chosen Option)
e faafer (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 81 Marks: 2.00
What is the name of the structure if hot steel is rapidly cooled?
g TH T DI ol F 3871 fohaT ST df WRET BT A8 &1 gI?
(A) O Martensite (Correct Alternative) (Chosen Option)
' (Correct Alternative) (Chosen Option)
(B) O Ferrite
LRIES

(C) O Austenite

(D) O Pearlite

Question No. 5/ Question ID 216 Marks: 2.00




Which gear runs more silently than a spur gear?
DI 1 IR TR R &t ga1 & siferes 2id asies § =radn 82
(A) O Bevel gear

(B) O Mitre gear
forer R
(C) O Helical gear (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(D) © Worm and worm gear

g 3R g iR

Question No. 6 / Question ID 221 Marks: 2.00
Which law states that the pressure exerted on a liquid is transmitted equally in all the directions?

fora fraw & g1 a1 § 6 Uer aRa W S1a T gara gt femmsii 7 e w U 9 giika giar g2
(A) O Hook's Law
g% &1 g
(B) O Pascal's Law (Correct Alternative) (Chosen Option)
UR&d &1 9| (Correct Alternative) (Chosen Option)
(C) O Boyle's Law
S 1 Fad
(D) O Archimedes Principle

Question No. 7 / Question ID 112 Marks: 2.00
What is the name of the bearing shown in the figure? .
o 9 faare e g i &1 98 1 22 Global iTi YouTube Channel




Global iTi YouTube Channel

(A) O Needle bearing

(B) O Roller bearing (Chosen Option)
(Chosen Option)
(C) O Self aligning roller contact bearing (Correct Alternative)

Y W IR YD JGIAT (Correct Alternative)

(D) O Angular contact bearing
DI Hudh

Question No. 8 / Question ID 89 Marks: 2.00

What is known as 0.84% carbon steel?
0.84% HIa WId e HGT STl 82
(A) O Pearlite steel (Correct Alternative)

a (Correct Alternative)
(B) O Ferrite (Chosen Option)

(Chosen Option)
(C) O Cementite

Herse

(D) O Hypereutectoid
gIRIRYCHTISS

Question No. 9 / Question ID 151 Marks: 2.00
What is the name of the pipe fitting item shown in the figure?

= & gifu 7 Uy ffeT sngen &1 71 w1 872




(A) O Connector
PHdeR

(B) O Long nipple (Chosen Option)
(Chosen Option)
(C) O Close nipple
@ Global iTi YouTube Channel
(D) O Short nipple (Correct Alternative) obal it youlube anne
(Correct Alternative)

Question No. 10 / Question ID 315 Marks: 2.00
What is the name of the part marked as 'X' shown in the figure?

o # fezame X B fifgd HmT 1 AW T 82




(A) O Intermediate link (Chosen Option)
Teradl foid (Chosen Option)

(B) O Joining link (Correct Alternative)
& &1 foid (Correct Alternative)

(C) O Master link
AR foih

(D) O Chain

EERY

bal iTi YouTube Channel

Question No. 11 / Question ID 236

Which formula calculates force?

DI T BIHAT I P T BT 872

(A) O Pressure x Area (Correct Alternative) (Chosen Option)
Pressure x Area (Correct Alternative) (Chosen Option)

(B) O Pressure - Area
Pressure - Area

(C) O Pressure + Area
Pressure + Area

(D) © Pressure + Area
Pressure + Area

Marks: 2.00

Question No. 12 / Question ID 205

Marks: 2.00




What is the name of the clutch shown in the figure?

fort & fa=ae 7T Fere &1 A T 87

bal iTi YouTube Channel

(A) O Single plate clutch
RiTTe wic F=

(B) O Cone clutch
DI T

(C) O Air clutch
UYY el

(D) O Dog clutch (Correct Alternative) (Chosen Option)
ST &1 (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 30 Marks: 2.00
What is checked using a fillet gauge?
fOrcie ST ST SUINT S TSIl STl 872
(A) O External corner radius (Correct Alternative)
FH1 ot B (Correct Alternative)
B) O Internal radius (Chosen Option)
ES] (Chosen Option)
(C) O Pitch of the thread
YR &1 U

(D) O Gap between mating components

Heh| P o BT 3R

Question No. 14 / Question ID 105 Marks: 2.00




Which bearing is used in the limited bearing space?

Tt foaf =i & fosw feafar &1 Iuae fosan S g2
(A) O Thrust ball bearing
U aidt faaian
(B) O Needle bearing (Correct Alternative) (Chosen Option)
e faafe (Correct Alternative) (Chosen Option)
(C) O Taper roller bearing
SR AR fag i
(D) O Angular contact ball bearing
TR HTeae aid fqaiT

Question No. 15/ Question ID 45 Marks: 2.00
Why manual stroking is preferred for large quantities in honing operation?
3R ST & S8t AT & forg Agaret Wifeh T ol g &b oireit 872
(A) O To keep close tolerance (Correct Alternative) (Chosen Option)

FH T[N 3G & ﬁl‘E (Correct Alternative) (Chosen Option)
(B) O To reduce maintenance cost

TERAG AN DI HH B & el
(C) O To reduce cost

T HH P b fe1g
(D) O To reduce time

Y D1 HH DA & ol

Question No. 16 / Question ID 298 Marks: 2.00

Which documents are used for examining the process to ide areas,of.
TR B 81 81 T e 2 e 8 o T & e B o Y@ ube Channel

(A) O Process chart (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(B) O Stage inspection report
frteror

(C) O Productivity report

SdTGehdl
(D) O Job card

gfchar

Question No. 17 / Question ID 254 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o A fewme e ¢ T fifgd Wi &1 919 w82




(A) O Disc
5559

(B) O Hinge pin
et o

(C) O Stop plug (Correct Alternative) (Chosen Option)
¥CTT W (Correct Alternative) (Chosen Option)
(D) O Disc hinge nut
SSARIKEH

al iTi YouTube Channel

Question No. 18 / Question ID 149
What is the name of the pipe fitting item shown in the figure?

forr o ife g Urgy e rged o1 11 T 82

Marks: 2.00




(A) O Coupling
gHq
(B) O Concentric reducer (Chosen Option)

$afed RS (Chosen Option) ey
(C) O Reducer (Correct Alternative) GIObC(I |T| YOUTUbe Channel

(Correct Alternative)

(D) O Plug
@

Question No. 19 / Question ID 46 Marks: 2.00
Which grade slip gauge is used for precision tool room applications?
OREE g & Srya & o frd I & e 7is1 &1 Ui foar S g2
(A) O Grade 0
Grade 0
(B) O Grade | (Correct Alternative)
Grade | (Correct Alternative)
(C) O Grade 00
Grade 00

(D) O Grade Il (Chosen Option)
Grade Il (Chosen Option)

Question No. 20 / Question ID 299 Marks: 2.00
Which document used to authorize and instruct the work team to take a production work?
3G BT B & 18 B &dl DI IHd B 3R FaR o7 & I8 vy gxarast &1 ITNT fasar Sirar g2
(A) O Inspection report
frteror
(B) O Process chart (Chosen Option)
El (Chosen Option)




(C) O Productivity report
Sdlghdl

(D) O Job card (Correct Alternative)
Sig P18 (Correct Alternative)

Question No. 21 / Question ID 313 Marks: 2.00
Why lifting pockets are provided with equipment?
JUHRUN & 1Y AT Uiche o1 UeH ot oird 872
(A) O Place the steel wedge
e oo T8 & forg
(B) O Position the roller for moving
AR B gd B & [yfq T A & ferg
(C) O Provision for bolt and nut
e 3R e & fae grau™
(D) O Place the crowbar for lifting (Correct Alternative) (Chosen Option)

I & ﬁl‘l! IR B @ ﬁl‘E (Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 183 Marks: 2.00
Why copper is extensively used in electrical cables and appliances?
faqgd el 3R IUFRUN | did DI §9 TAM TR IUART i {1 ST g2
(A) O Easy soldering
S
(B) O Ductile metal

GRIRCIG!
C Cheap in cost .-
(©)O reap Global iTi YouTube Channel
(D) O Good conductor (Correct Alternative) (Chosen Option)
Ts He e (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 31 Marks: 2.00
What is used for placing the instruments during working?

BT B SR IUBUN Bl [a & 1T fopdepT IUTNT fopdm Srar 872
A) O Woo%irr;;blank

(B) O Felt pad (Correct Alternative)
Tee IS (Correct Alternative)

(C) O Steel sheet (Chosen Option)
wId e (Chosen Option)

(D) O Cloth
PUST

Question No. 24 / Question ID 84 Marks: 2.00
What is used to achieve faster rate of cooling in the quenching process?

U Ufchar # e Bl Ol &= UTd B P folu fhgepT IuanT fasar Sirar 872
(A) O Air

arg
(B) O Water

CIE]]




(C) O Brine solution (Correct Alternative) (Chosen Option)
sITg-1 HJRA (Correct Alternative) (Chosen Option)

(D) O Oil
aa

Question No. 25 / Question ID 283 Marks: 2.00
Which cutting fluid is used for threading in general purpose steel?
T Yo & id § 9f$ & fo fooe aRa uard &1 IuainT fosan i g2
(A) O Soluble oil (Chosen Option)
ada (Chosen Option)

(B) O Dry

Sl
(C) O Sulphurized oil (Correct Alternative)

JehR Jod aa (Correct Alternative)
(D) O Kerosene

Question No. 26 / Question ID 50 Marks: 2.00
Which surface is being lapped using the split bush shown in the figure?

2 & T2l U fRefe g1 51 ST B {59 Jdg DI Ay fbar o 61 82

bal iTi YouTube Channel




(A) O External taper surface
CIRNEERIRGT
(B) O Flate surface
quct 9dg
(C) O External cylindrical surface (Correct Alternative) (Chosen Option)
dTed TR Hdg (Correct Alternative) (Chosen Option)
(D) O Internal cylindrical surface
3TaR® da-THR Idg

Question No. 27 / Question ID 173
What is the name of metal alloy of Lead, Tin, Copper and Antimony?

i, fo1, aian oiR G @t arg ey erg 1 o A1 82
(A) O Gilding metal
TArefeT ded

(B) © Babbitt metal (Correct Alternative) (Chosen Option)
afge dca (Correct Alternative) (Chosen Option)

(C) O Leaded bronze
NISEEIS!

(D) O Bronze

Marks: 2.00

Question No. 28 / Question ID 164
What is the name of the jig shown in the figure?

for o feamy 7Tu o571 1 A1 | 82

Marks: 2.00

Global iTi YouTube Channel




(A) O Channel jig (Correct Alternative) (Chosen Option)
¥4 forr (Correct Alternative) (Chosen Option)

(B) O Solid jig
gifers fom

(C) O Trunnion jig
= fomT

(D) O Postjig
e

bal iTi YouTube Channel

Question No. 29 / Question ID 61
What is the use of grade '00' accuracy slip gauges?
U '00" T T ST BT T IUINT g2
(A) O Calibration grade (Correct Alternative) (Chosen Option)
Us (Correct Alternative) (Chosen Option)
(B) O Tool room applications
T4 FH ST
(C) O General workshop applications
A
(D) O Inspection grade
e I

Marks: 2.00

Question No. 30 / Question ID 192

Marks: 2.00




Which type of gear drive changes rotary movement to linear movement?
5 gpR &1 TR $129 At I &1 RS a1d § Feadr 82
(A) O Herring bone

(B) O Hypoid
RIRUIRS
(C) O Rack and pinion (Correct Alternative) (Chosen Option)
fufas (Correct Alternative) (Chosen Option)
(D) O Helical gear

Question No. 31/ Question ID 25 Marks: 2.00
What is the use of round key in assembly?
SRITel H A8 DI BT IUANT T 82
(A) O Unidirectional torque
SRR Tlab
(B) O Secure the component with light torque (Correct Alternative)
UCPH Pl geb b o '\fR'fEI?r ®Y (Correct Alternative)
(C) O High torque
I Tl
(D) O Slide along the shaft (Chosen Option)
I & 1Y TISS B (Chosen Option)

Question No. 32 / Question ID 284 Marks: 2.00

Which cutting fluid is used for heavy duty machine with less cpitting spged2..
R T B TR 1 S S e B o e e et AN G i You Tube Channel
(A) O Fatty oil (Correct Alternative) (Chosen Option)

qargdd aa (Correct Alternative) (Chosen Option)
(B) O Straight mineral oil
BIPECIEEK
(C) O Synthetic fluid
Afesd el ard
(D) O Soluble ol

Question No. 33 / Question ID 132 Marks: 2.00
Which bearing material needs no lubrication?
T fargfer Aredt 1 We DI TaRgehdT g1 Bldil?
(A) O Aluminium alloy
oy urg

(B) O Castiron

Dol gl
(C) O Plastics (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(D) O White metal

urd

Question No. 34 / Question ID 210 Marks: 2.00
Why universal uni-joint coupling is only suitable for remote manual operations?

Yol gl-siige HUfeT hadl Rele A3 TR & forw € Suged o 82




(A) O Used in pairs on cardan shafts
HTe MU W IS F SUART {51 ST §
(B) O Provides a soft start
T TRH TSI T BT S
(C) O Used to reduce the engine vibration (Chosen Option)
§0 U B! HH B & foTT IUTNT fHT ST & (Chosen Option)

(D) O Transmited low power is not smooth (Correct Alternative)

TaTfvd oH fad qar= EH kS (Correct Alternative)

Question No. 35/ Question ID 57 Marks: 2.00
What is the name of the instrument shown in the figure?

fort  feRame 7T IuHR T AH T 82

lobal iTi YouTube Channel




(A) O Vernier height gauge
GECAIE]
(B) O Clamp type height gauge
T <I3Y 8T8 T
(C) O Depth vernier gauge

(D) O Height gauge with slip gauge holder (Correct Alternative) (Chosen Option)
& g1y 31%2’ ol (Correct Alternative) (Chosen Option)

Question No. 36 / Question ID 259 Marks: 2.00
What is the name of the valve shown in the figure?

fort & fRaTe 77U aTed &1 AH 1 82

| iTi YouTube Channel

(A) O 3 port 2 position valve
3 U1 2 TSR dled

(B) O 4 port 3 position valve
4 U< 3 ISR dled

(C) O 4 port 2 position valve
4 U< 2 ISR dled

(D) O 5 port 2 position valve (Correct Alternative) (Chosen Option)
5 TS 2 TSR ared (Correct Alternative) (Chosen Option)

Question No. 37 / Question ID 15 Marks: 2.00
What is the name of the file shown in the figure?

forr o gxIfS 718 WIsd &1 19 1 82




(A) O Pillarfile
EJEK

(B) O Warding file
IIRVIEN]

(C) O Dread naught file
$S e wigd

(D) O Swiss pattern file (Correct Alternative) (Chosen O
mﬁzﬁwm (Correct Alternative) (Chosen Opt@#abal iTi YOUTUbe Channel

Question No. 38 / Question ID 145 Marks: 2.00
Which standard fitting is used for joining pipeline of different diameters?

fafie g o1 UrgUes ! Sie & fo1e [y AT b o1 IuanT far Sirdr 87
(A) O %s

(B) O Coupling
DU

(C) O Reducer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Plug
SRl

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 337 Marks: 2.00
Which authority publishes schedule of rates?
DIF-TT U1 &R} b ST ! FBTRIT Bl 82
(A) O Government department (Correct Alternative) (Chosen Option)
faumT (Correct Alternative) (Chosen Option)

B) O Corporate

A @ gefea (@TaRke)
(C) O Individual

HfRITd




(D) O Partnership firm
ORI

Question No. 2 / Question ID 326 Marks: 2.00
Where the centre of grawty of a circle lies?
TS g & HAIBYUl BT Hg Hal (Ud 82
(A) O Any where on its diameter
P I R DI olg

(B) O At its centre (Correct Alternative) (Chosen Option)

gk (Correct Alternative) (Chosen Option)
(C) O Any where on its radius

a1 R B13 et
(D) O Any where on its circumference

IR R BIs Ta

Question No. 3 / Question ID 339 Marks: 2.00
What is the other term of pocket reference in engineering works?

SoNfafTT At § Ufdhe Whd BT guRT Xeq T 87

(A) O Hand book (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(B) O New book

q 9P
(C) O Good book

K
(@) O ;'%“iﬁ%?é Global iTi YouTube Channel

Question No. 4 / Question ID 333 Marks: 2.00
Which symbol is used to express change in length?

TS § uRad &1 forg Gobd ¥ G STl 272
A) O |
|

(B) O ol (Correct Alternative) (Chosen Option)
ol (Correct Alternative) (Chosen Option)

(€) O
(D) O

(ORNONE

Question No. 5/ Question ID 334 Marks: 2.00
What are the various stages of heat treatment?
M1 SUER & fafi= ==or &7 82




(A) O Heating, Soaking and Quenching (Correct Alternative) (Chosen Option)
) T 3R Fd =T (Correct Alternative) (Chosen Option)
(B) O Soaking, Quenchlng and Cooling
T, FATRT SR B
(C) O Quenching, Cooling and Heating
GafeiT, FicHT 3R g
(D) O Heating, Cooling and Quenching
, HfehT SR afed

Question No. 6 / Question ID 325 Marks: 2.00
Which is used to reduce the friction in machine parts?

TR 4T H TS0 T BH B & fo1u fhgesT ST faban Sirdr g2
(A) O 1\:/IV;\?’[[er

(B) O Lubricants (Correct Alternative) (Chosen Option)
'\Q?Tﬁ (Correct Alternative) (Chosen Option)

(C) O Petrol

(D) O Kerosene
gt o1 dd

3) ENGINEERING DRAWING

Question No. 1/ Question ID 348 Marks: 2.00
Identify the given rivet.

fq T fRee I e Global iTi YouTube Channel




(A) O Pan head
CERS

(B) O Snap head (Correct Alternative) (Chosen Option)
g %3 (Correct Alternative) (Chosen Option)

(C) O Counter sunk
BRI Y

(D) O Flat head
TIIC 88

Global iTi YouTube Channel

Question No. 2 / Question ID 362
GMAW stands for

GMAW & forQ st g

(A) O Germanium Metal Arc Welding
Germanium Metal Arc Welding

Marks: 2.00




(B) O Gun Metal Arc Welding
Gun Metal Arc Welding

(C) O Gas Tungsten Arc Welding
Gas Tungsten Arc Welding

(D) O Gas Metal Arc Welding (Correct Alternative) (Chosen Option)
Gas Metal Arc Welding (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 345 Marks: 2.00
The rivet head for a general purpose shown in the figure below is

=iter e e fom & femm e 9 vaieH & i Rae gs s .

(A) O flat
RiC Global iTi YouTube Channel

(B) O counter sunk (Correct Alternative) (Chosen Option)
PI3CY Y~ (Correct Alternative) (Chosen Option)

(C) O pan

(D) O snap

Question No. 4 / Question ID 360 Marks: 2.00
The thread angle of B.S.W screw threads are___.
BSW ¥f U89 & IS T gl
(A) O 60°

60°
(B) O 30°
30°
(C) O 55° (Correct Alternative) (Chosen Option)
55° (Correct Alternative) (Chosen Option)
(D) O 45°
45°

Question No. 5/ Question ID 350 Marks: 2.00
Which of the following is used to block the pipe at one end?

g 7 9 fhgeT UanT ursy & Te RR W <iie $3- & foru fbar s g2




(A) O Reducer

fregar

(B) O Plug (Correct Alternative) (Chosen Option)
W (Correct Alternative) (Chosen Option)
(C) O Union

(D) O Couplings
SHyfer g

Question No. 6 / Question ID 351 Marks: 2.00
Which one of the following accommodates four pipes in a pipe fitting?
FEfafed & ¥ -9 U uisy e # IR ursdl & Gem™iford Bl 67
(A) O Cross (Correct Alternative) (Chosen Option)
g0 (Correct Alternative) (Chosen Option)
(B) O Union

(C) O Tee
&

(D) O Elbow

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 506 Marks: 2.00

The practice of using a network of remote servers hosted on the internet to store, manage and process
data is called

o1 B R, F9 IR UGE B3 ¥ R devie R ae e iRdrbak Redbon Juwih exEdtannel
dfgeq o1 CIIRCIGIE
(A) O Google
et
(B) O Cloud computing (Correct Alternative) (Chosen Option)
HKI3S $Cqﬁ11 (Correct Alternative) (Chosen Option)
(C) O Yahoo
RL
(D) O Search engine
NEEE|

Question No. 2 / Question ID 508 Marks: 2.00
Which one is essentially required to receive communication by Email?
SHd GRT HRBH A U HRA & g ifard 0 ¥ 1 Sawae g2
(A) O Laptop
duerg

(B) O Email account (Correct Alternative) (Chosen Option)
3[PhT3C (Correct Alternative) (Chosen Option)
(C) O Printer

(D) O Desktop
Sl

Question No. 3 / Question ID 368 Marks: 2.00




The ability to connect well with people
ANl b Y B RE ST BT &mdl o
A) O mterpersonal skill (Correct Alternative) (Chosen Option)
pa (Correct Alternative) (Chosen Option)
(B) O leadership
NISREL
(C) O time management
[ELRE T
(D) O creativity

fopufefadt

Question No. 4 / Question ID 376 Marks: 2.00
While addressing your boss, you should be

ST ST Y TN e TG MUBT @ Ay |
(A) O Impolite

ELSNIES)
B) O Informal

(C) O Expressive

(D) O Formal (Correct Alternative) (Chosen Option)
BId (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 554 Marks: 2.00
Which of the foIIowm behaviours is not a characteristic of a ayer?—.
frafefed & 9 &M G?quleﬁﬁmqeﬁﬁﬁwﬁ 22 B& 1 Ti YouTube Channel
(A) O Listening to teammates' ideas
| & faaRI &1 Y11 91T
(B) O Respecting different viewpoints
faftr ef¥pIuM(cquTs ) T $iTeR BT AT
(C) O Willingness to help others
QORI &1 ETIAT B DI FBT G- AT
(D) O Taking credit for others' work (Correct Alternative) (Chosen Option)
[ % T BT 4T T I1f8T (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 583 Marks: 2.00
If your first design of design thinking doesn't work, what should you do?
e fewrgA fifds 1 &1 sueT ugan fSue— &1 76! &xdl g, <l S| FT HRAT AMeT?
(A) O Ask for feedback and try to improve (Correct Alternative) (Chosen Option)
BIsa® T 3R JUR HI BT TATH HAT il'l'%"{ (Correct Alternative) (Chosen Option)
(B) O Give uponit
34 BIS &1 =IfeY
(C) O Make something else

$S 3R T AT

(D) O Purchase some other design

s 3R feureT e amfge

Question No. 7 / Question ID 561 Marks: 2.00

While working in a team, one of the team members is on leave and not completed the tasks, our action
should be




%ﬂnﬁwu HRd THY, SH BT Uh e Ga! R Bl 3R BRI I = H UM gl, dl GART RATS il

(A) O Ask other team members for help and complete your coworker's task (Correct Alternative)
(Chosen Option)

Teg & fore U & 30 Toal A YSHT 3R 3UA BTGP BT <P [T BT AT (Correct
Alternative) (Chosen Option)

(B) O Criticise your coworker for not completing his work
HIH RN T B WR 3T HIGHR B! AT BT AMMRT
(C) O Complain your supervisor about the incomplete work
3R HH b TR H U YURAGOR I RIbId BT A1igy
(D) O Keep working on your own tasks

30+ RS W HTH Hd g1 AT

Question No. 8 / Question ID 612 Marks: 2.00
If you face a problem, which of the following entrepreneurial mindset traits would be most helpful?

e 3y fadt THwn &1 W1 H-d 8, o) Fafafad § § SexvRem@Tmiiadn) HrEsdc &1 o a1 aaf
ey 31feIe g GITTN?
(A) O Taking action to solve the problem (Correct Alternative) (Chosen Option)
TUT & GHTYTH gq PTRIATa! BT (Correct Alternative) (Chosen Option)
(B) O Ignoring the problem and hoping it goes away
AT P ToRSHETST HRAT 3R SHIG HRAT [ T8 g 8 St
(C) O Blaming others for the problem
o1 o o g¥Rl &1 qlvt 38T
(D) O Waiting until everything is perfect to do something
S B o A TG db SASIR DHRAT 9ld db 4 $S gl 4 8l oIy

Global iTi YouTube Channel

Question No. 9 / Question ID 594 Marks: 2.00
What are 3 important elements to remember while doing a survey?
T4 B IHT TG W TG < Hedqu Tferie diF 9§ g2
(A) O Talk, learn, understand
B) O Llsten observe, tell
| Frfer ¥, Jang
(C) O Observe, record learn
D) O Llsten observe Iearn (Correct Alternative) (Chosen Option)
ﬁﬁ&maﬁ I (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 450 Marks: 2.00
Which option below describes a "gig" in the gig economy?
e fear o1 1 fawed i gt & T &1 9o e g2
(A) O Ajob with full-time hours and benefits
Bd-cgH °e 3R Y aTelt Adhsl
(B) O No specific task
PIE AR el 7Y
(C) O Atypical 9-5 job
TP A 9-5 T Bt Al
(D) O A specific task or project (Correct Alternative) (Chosen Option)
Udh fafry e~ a1 Mieiee (Correct Alternative) (Chosen Option)




Question No. 11 / Question ID 502 Marks: 2.00
A resume should be
SRS GRIEINY
(A) O having long and detailed information
el 3R favgd SR 81
(B) O short and precise (Correct Alternative) (Chosen Option)
(51 AR e (Correct Alternative) (Chosen Option)
(C) O having acronyms and abbreviation
UpiAe SR Srfiditer g
(D) O bold and colourful
Jies 3R T

Question No. 12 / Question ID 408 Marks: 2.00
What is formal communication?

HIHT HRIAHRA T 87
(A) O All written communication

gt fafad sgfAdeE

(B) O Casual chatting on social media
e Hifsar iR Hgsra e

(C) O Official communication following a set of rules (Correct Alternative) (Chosen Option)
rami & Udh e & 91 ATpRad Wﬁ%‘«’l‘[ (Correct Alternative) (Chosen Option)

(D) O Talking with friends and family
Q! 3R URAR & AT §1d AT

Question No. 13 / Question ID 459 Global iTi YouTude Glaannel

What does migrating for work mean?

ST & U ASIT &1 71 Tq0d 872

(A) O Changing jobs within the same city
TS B TeR § A gaer

(B) O Staying in the same place for work
DTH & ol T g1 S8 R G

(C) O Working from home
TR Y HH BT

(D) O Moving to a different place to find a job (Correct Alternative) (Chosen Option)
NI GioA & g fHdt gO¥ VI U= T (Correct Alternative) (Chosen Option)

Question No. 14 / Question ID 436 Marks: 2.00
Create a digital CV and share it with a QR code is

U fefoied cV 99MT 3R 3T QR B8 & 1Y Il HIAT g
(A) O digital marketing
fsforeq At fe

(B) O interview skill

EREAET
(C) O entrepreneurship

(D) O your digital identity (Correct Alternative) (Chosen Option)
YgdId (Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 586 Marks: 2.00




A bag manufacturer design a product and show it to 5 different people for feedback. Why is it important to
listen to different users and not just one?

T 97 F1dT T IdTe FSos HRal © 3R SU BISad o (AU 5 SHTRT-3eHT AR Bl fearal ¢ | ad U ol
8} sfeep faftrer Sudivedfalt @t aTd G ot Heeaguf 87
(A) O To understand the common problems from different users (Correct Alternative) (Chosen
Option)
T SugRTEHatel @t GH=T IAETSi Hf YA & AT (Correct Alternative) (Chosen
Option)
(B) O To get a lot of ideas
9gd IR faaR e A o forg
(C) O Because it's fun
ifdh g ToleR §
(D) O To get a lot of appreciation for her work

30 HTH & o e W1 9eRkA & faw

Question No. 16 / Question ID 481 Marks: 2.00
An illegal activity committed on the internet is called
geC R B T8 U IRGIHT Tafafer & Hel Sdl §
(A) O cyber crime (Correct Alternative) (Chosen Option)

TSI PIgH (Correct Alternative) (Chosen Option)
(B) O search engine

BEESE
(C) O social networking

BN GGG
(D) O virus

IR Global iTi YouTube Channel

Question No. 17 / Question ID 541 Marks: 2.00
Which is the most important document required by companies to select people for job?
ST BT BT B o AN BT T B & oY JI HedqU SIFTHT I AT 82
(A) O Sports certificate

Qe JHTOTO
(B) O Your certificate
S{TYhT YHTUTYA
(C) O Conduct certificate
ERER LI}
(D) O Your resume (Correct Alternative) (Chosen Option)
GI'IWW (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 518 Marks: 2.00
If you want to apply for jobs through Naukri.com, what you will do?

Ife 3T Naukri.com & ATEHH I TH AT & T 3Mde BT I18d ©, dl 3T T H3N?




(A) O Apply to all the jobs listed

Tetas gt Aieial & fore emae &
(B) O Select all the cities where jobs are available

37 Tt X5 BT T Y g NHRAT IuH §
(C) O Ignore the job descriptions

W & 7 &1
(D) O Match the skills with the job description (Correct Alternative) (Chosen Option)
faavur & Ty PIere &1 | S (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 567 Marks: 2.00

As a machine operator, while working with your machining you find the machine is not working properly.
What should you do?

TP TR SHURex & U H, 30T A=A & 1Y HTH Hd 0T 319 UTd & [ IR 31 I HH o] PR 6! ¢
3{TTeh! T BT AM5A?
(A) O Blame someone for the defect
N & o foddt &1 QW &1 aee
(B) O Ignore it
Y ZUR ST 1Y
(C) O Try to find the cause and remedies for the problem to solve it (Correct Alternative) (Chosen
Option)
THJT BT HROT 3R 3T &d P P UM W BT YA HAT T:IT%E (Correct Alternative)
(Chosen Option)
(D) O Hide the machine

T B gTs S B T 1T

Question No. 20 / Question ID 476 Global iTi YouTube fannel
A green workplace
T U
(A) O Uses less paper and energy-saving lights. (Correct Alternative) (Chosen Option)
A UUR 3R TSH-AfT ATgeT BT U HdT @ (Correct Alternative) (Chosen Option)
(B) O lIgnores waste separation and recycling.
I YU SR TSI Bt IU&T Bl 5
(C) O Uses disposable items and plastic water bottles.
ST 3MZer 3R WRed S UM & Sidal BT SUINT &l §
(D) O Keeps the lights on all the time.
TR Y T3¢ I 39T §

Question No. 21 / Question ID 616 Marks: 2.00
Imagine you are setting up a mobile repair shop. Which of the following is the most important for its
success?

Wﬁ%ﬁ?&mwmﬁﬁmﬁﬁq@a@%wﬂw%mmﬁﬁﬁmm




(A) O Offering repair services at a higher price
3P HITd TR TRET YaTE UG HRAT
(B) O Setting up the shop in a busy area (Correct Alternative) (Chosen Option)
g 's{EITa? H 2T T (Correct Alternative) (Chosen Option)
(C) O Putting up flyers in the neighbourhood
A-USI H T T
(D) O Picking the right shop name
gl QT BT A T

Question No. 22 / Question ID 426 Marks: 2.00
Your team has completed a challenging project successfully. How should you celebrate the success?
3Mger! A 3 Te gAYl Uioiae Ywhadrgde QRT fhar 8 1 3! JwhadT &l ST &d HHT a1feu?

(A) O Don't celebrate and start the next job
Jfetsie T B 3R 3ATAT HTH WIS B 7 AT
(B) ©O Blame the group for any errors
fopaft oft TR & fore g &1 et 3= A1
(C) O Say you did everything and don't praise others
"Ig HET AT foh T T B fhaT 3R GERI DI U= 18] T alfey
(D) O Thank everyone in your group for helping (Correct Alternative) (Chosen Option)

eGP & ﬁﬂ'{ 3 qJqg & gt & &t Y=aaTg HRAT ilTI%'l! (Correct Alternative) (Chosen
Option)

Question No. 23 / Question ID 432 Marks: 2.00
Which among the following is self-employment idea?

Fafafed & ¥ 319 91 t6 W-IoR 3R 82 —
(A) O Freelance tailoring Service Global iTi YouTube Channel

ESRURICE]

(B) O Boutique owner
(C) O Home catering service

(D) O All the options (Correct Alternative) (Chosen Option)
It fawea (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 395 Marks: 2.00
Fill up the blanks with suitable words so as to become a meaningful sentence.
Rainwater harvesting to prevent water scarcity
et R o1 Sferd eal ¥ WX difds Ueb Widfeh a1y & b |
Rainwater harvesting to prevent water scarcity
(A) O gave
gave

(B) O helps (Correct Alternative) (Chosen Option)
helps (Correct Alternative) (Chosen Option)

(C) O gives
gives

(D) O help
help

Question No. 25 / Question ID 402 Marks: 2.00




The word 'resume' comes from French and means

I Xeq T TS 1T § 3R 39T 3 gl

(A) O experience
3{JHd
(B) O education
e
(C) O placement
IS
(D) O summary (Correct Alternative) (Chosen Option)
H'fa'q (Correct Alternative) (Chosen Option)

Global iTi YouTube Channel




